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3 Marks Questions

1. Evaluate : 

Watch Video Solution
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2. Simplify : 

Watch Video Solution

5n+ 3 − 6 × 5n+ 1

9 × 5n − 5n × 22

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vIMpgZruwb33
https://dl.doubtnut.com/l/_EJsjC6FeFtN1


3. Simplify each of the folloiwing and express with positive index : 

Watch Video Solution

[1 − {1 − (1 − n)
− 1}

− 1
]

− 1

4. Simplify 

Watch Video Solution

83a × 25 × 22a

4 × 211a × 2− 2a

5. If 
prove that 

Watch Video Solution

ax = b,  by = c and cz = a, xyz = 1

6. If , find 

Watch Video Solution

4x+ 3 = 112 + 8 × 4x (18x)3x

https://dl.doubtnut.com/l/_EJsjC6FeFtN1
https://dl.doubtnut.com/l/_T86dGoF3GDGa
https://dl.doubtnut.com/l/_oYJ1uYzoh2eq
https://dl.doubtnut.com/l/_gJkkGLDMhSwa
https://dl.doubtnut.com/l/_4HN634iBZ41V


7. Solve for x : 

Watch Video Solution

(a3x+ 3 × (a3)
4
) = a8x+ 12

8. If  and , find the value of 

.

Watch Video Solution

34x = (81) − 1 (10)1 / y = 0.0001

2−x × (16)y

9. Evaluate : 

Watch Video Solution

2n × 6m+ 1 × 10m−n × 15m+n− 2

4m × 32m+n × 25m− 1

10. Evaluate : 

Watch Video Solution
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https://dl.doubtnut.com/l/_4HN634iBZ41V
https://dl.doubtnut.com/l/_hJpZ9gR1oF8W
https://dl.doubtnut.com/l/_xuIbHa2jdgos
https://dl.doubtnut.com/l/_ufIAPQSEOOdZ
https://dl.doubtnut.com/l/_F2pz6euiSo4C


11. Evaluate : 

Watch Video Solution

+ +
4
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12. Simplify : 

Watch Video Solution
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13. Evaluate for x 

Watch Video Solution

(√ )
x− 8

= ( )
2x− 3
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14. Evaluate 

Watch Video Solution

( )
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− 3(8)2 / 3 × 40 + ( )
− 1 / 21
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https://dl.doubtnut.com/l/_F2pz6euiSo4C
https://dl.doubtnut.com/l/_GO415uhrklLQ
https://dl.doubtnut.com/l/_6XQziy3x9IUV
https://dl.doubtnut.com/l/_rWPEMl7ltEAK
https://dl.doubtnut.com/l/_ERB2iSIIcD92


4 Marks Questions

15. Solve for x : 

Watch Video Solution

( 3√ )
2x+ 2

=
3

5

25

9

1. Prove that:

Watch Video Solution

( )
a

^ 2 + ab + b2x ( )
b

^ 2 + bc + c2 x ( )
c

^ 2 + ca + a2xa

xb

x6b
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xc
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2. If , calculate the value of 

Watch Video Solution

1960 = 2a × 5b × 7c 2−a × 7b × 5− c

https://dl.doubtnut.com/l/_ERB2iSIIcD92
https://dl.doubtnut.com/l/_EzbfPcYs08km
https://dl.doubtnut.com/l/_KP8xHyV6eDx9
https://dl.doubtnut.com/l/_QPgGyDm9qn50
https://dl.doubtnut.com/l/_iUCyL6MJ8MCc


3. If 
 and 
 prove that 

Watch Video Solution

a = xm+n yl,  b = xn+ l  ym c = xl+myn,

am−n bn− l  cl−m   = 1

4. Solve for x and y if : 

 and 

Watch Video Solution

(√32)
x

÷ 2y+ 1 = 1 8y − 164 − = 0
x

2

5. If 
and 
then show that 

Watch Video Solution

ax = by = cz b2 = ac, y =
2zx

z + x

6. If . Show that 

Watch Video Solution

5−p = 4−q = 20r + + = 0
1

p

1

q

1

r

https://dl.doubtnut.com/l/_iUCyL6MJ8MCc
https://dl.doubtnut.com/l/_WPYpp9lxzRIP
https://dl.doubtnut.com/l/_DnT8pjCkvGjX
https://dl.doubtnut.com/l/_z1eEqbJZs5gC


7. If  and  find the value of x.

Watch Video Solution

2x = 4y = 8z + + = 4
1

2x

1

4y

1

8z

8. If  and  , find the value of 

.

Watch Video Solution

m = 3√125 n = 3√64

m − n −
1

m2 + mn + n2

9. Prove that:


Watch Video Solution

+ =
a− 1

a− 1 + b− 1

a− 1

a− 1 − b− 1

2b2

b2 − a2

https://dl.doubtnut.com/l/_QhQm3GvoiARo
https://dl.doubtnut.com/l/_kEIjGUVZkKvH
https://dl.doubtnut.com/l/_4OpOReHUSaCq

